Quiz 21 Solution  Fall 2010  November 1
These problems are from Lesson 1.
Determine the location of the following angles.  Show your work for Problems 2.
1.
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Answer:  II

NOTE:  Some people wrote the statement  
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  =  II.  This means that the terminal side of the angle  
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, which is a ray, is equal to the second quadrant.
Work (Not required to be written down):
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  is in II or I  (since we are rotating clockwise)
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  is in II

2.
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  is in III or IV  (since we are rotating counterclockwise)
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  is in IV

Answer:  IV


NOTE:  
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3.

[image: image11.wmf]2

p

q

-

=

    (2 pts.)

Answer:  The negative y-axis

NOTE:  
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  the negative y-axis
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